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Z B EE, REARINE = — R (validity ) , —JAB B (reliability) . il
BRI —EREN AR EN R EENNAREE S WEE, BESE, N HEER&
o B ASEINRT S, T NI | e B % 78 o6 T 5 7 AR M . 84 2
I B T KRB NS . FrBEE, Wk B #4, B —E MRS R EETR I
FEo Befihid U AL IRMIAEN 2 ESNBRZ AR E R - EEEP BE, SRR E
SHEEMAMEE, XX F—FeEERNIES R, RENENE AR,

EFUULEFE AENBUREIVEEB IR HIT RSN SWRE, IERER&
% TAEE AT R HEFBT 80t , MEIA MR , F2EIR

ABEUTEA:

SEHRE, BT, 2R EBERI(EERP)MCERKP)KEH, £ B
EEME ERRE IR ES T EREON R 2 R R BT KA ER, BA
BRI, 50 BEBUARRTE B TiE, R &5 3B PR S8 08

ERER BITELY, A BPNIESEEREMEEZERIHREK MBI B IH
ZHER BRI HREERCIEEHER . MVRERE, TUEE &R, MkesE, EE RS
B, A RN ERMNIRZ HTS, THR&SEZ I,

ZWERN, 5 TES, ABRREYNRFIGE—LREI, 5 KPER KXY ARIRE
HRBETE, SR B2 58 T I8 %, B b, 8 7 A BE B 05 U N, R 2 A
MR A B0 , LA R B AT XS & i o
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Yoty 2 B0 5T D SRR RN | TR BRI 3 A BB 40 v B B SR R AR AN BRI
B BYE¥4, 3F 1999 4F 6 Ay HIsETEHEES 11996 4E 6 A kst R AECER 4y ; R L 70T
F1%R43 s B/NIE A TRAESCER 40 s FERR S TR A TR 70 s IR AE (X BB 17 3T 2000 4F 3 B iR R
KIS ; 2L 2002 4 6 A MHAERRNRE , &5 h R EELER,

FBHNBEFERIBHE LR ENE, MEEHBR KIANE &, 8 h T4HEKF
AFR, 2 E R, R 4tiR, B MRITAFIEIE,
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b ARRALS

F—EH W /132 # ( Listening Comprehension)
— ERABTRERSH

1. E AT

KEFFEFEBARE R /1343 20 NE, 4518 A BB FTHM : A 35 (Section A) FF 10 38, HE &
X, 55 E A — A A14) ;B 15 (Section B) A 10 M8, A ZHELE TREXZE, BREXEE
2—4 ERB, BB R—A 4],

FEBEAKE , NENTHEHEMEARNE,

T 5 3% (Spot Dictation)

“MERES"RHE THEBRB ZE. RELAH—RA 200 FHEX, KPEF 10N ELENEHE.
BASHBRERBEA-NOFREATFH B . SXUCKEEBEEERN)HE 05 E (B2 140
ME)BIE 3R, BB, BEEN, ENRIULFEETREXAD; B RESHKLEN, BRE
AT BWHNE(DFREDFHR—HD)HAZHKL B BFAE —E— R, A, BORMEE£#7T
Bt o

“MEEE "B ARAEES S0 I BRBLWEXKRBHER, “WEHEE"HREFMNA
HRERE, FIEER—&WF L.

£ &3 B (Compound Dictation)

“BEARNE"RHAE W HEBRY"ZE. “HEANE"BAR—EM W KE, HER EHER
SAR B REFNE , BREAESHRAETAFT R HIE;E Mo RIS, BREERBHTA
AEHER.

“BARAW BB R—RA 250 MALEGHE, HE 3R, F—RRELICHIE, iﬁﬁﬁﬁ H 2
IEEETHREXNE. FRPEN, EF BN BNZRABE S, BERZEHAFTBRNHF; %
B ZIEEW S 24, i#ﬂiﬁﬁﬂf‘ﬁﬂﬁgmggtﬁ?ﬁo BoEPESE R, RAEW, B
R B A AT .

“BEARNE"H4 KB SRR ES S0 ERRLS 0 E X KB R , B 5 E BT RERE
RPN E B

40:2000 4E 12 A # Section B

The human body is a remarkable food processor. As an adult, you may consume(S1)_ gVe\ a ton of
food per year and still not gain or lose a pound of body weight. You are(S2) harnessing and con-
suming energy through the intricate(S3) o body in order to in energy balance. To
(#) _’mﬁ;?%, a given body weight, your energy inptit must balance your e;et?y-—output. However, some-
times the(S5) QMA&‘S energy balance is upset,and your(S6)_f\s{ma\ body weight will either fall or
(ST)_ il

The term body image refers to the mental image we have of our own physical appearance, and (S8)
. Research has revealed that about 40

1




percent of adult men and 55 percent of adult women are dissatisfied with their current body weight. (89)
. At the college level, a study found that 85 percent of both male and
female first-year students desired to change their body weight. (S10) :
. Thinness is currently an attribute that females desire highly. Males generally de-
sire muscularity. The vast majority of individuals who want to change their body weight do it for the sake of ap-
pearance;most want to lose excess body fat, while a smaller percentage of individuals actually want to gain

weight.
[#&3] S1 over 2 constantly S3 mechanism $4 maintain S5 overall S6 normal S7 increase
S8 It can be influenced by a variety of factors, including how much we weigh, or how that weight is dis-
tributed. B e MO il
S9 Similar findings have also been reported at the high school level, mainly with female students.
S10 The primary cause of this concern is the value that American society in Eeneral assigns to physical

appearance.
T AR NEES"MEARNTE NHERMERAFERNITEEXANT NGRS BERE

HRERCI p R Wk, Wi EEA TR RenWnsE e
#52 roh TEHyA FESR E HORRE FIRE)  TRS TRH «

2. EESH 5k

(1)THEBAER A _

XL R B R R — 2 MR AR oV 5 64 SO0 TSR , R RATRE 0 R 0
BETH, TRAERRG TR, LM B, RS KRR, TR AR SN 1T
f— TR ST -

MIEERRR | BHAER 2 I - x # W

FH—HIm EZRHBE | i, FHRK homework, marks, assignment, grades
FE—EBEER BBE BEE)H borrow, return, fine, renew, due, overdue

BmE—ERR | HE W) & how much, price tag, expensive, cheap
BE—TIEAR | BRID HEWA {54+ 2 | letter, address, postage

EE—RFR | BiH G room,£se(rviti’oa check in, check out
AN—3GEEER | Dk 40 38 38 HL break the rule, fine, policeman

RE—HHAR | 5 BLFE BB | take off, flight (stewardes

BA—BE | ER.2HF | BR headache, pain, What’s the matter?
RE—BER | AHKE ] excuse me, How can I...7, Will you tell me...?

EERRERA— X EE R, MR RBFZE, REZH, LG FLZE, 2B MNBHZE,$E
ZREISSHNIE, WX FELERBHATRE , WHERS FOFS S EBRBEX—FU BN, T H
WX B AR A LAF LR

OitHE

HEBHERREREEEENEFEREFH LR E, B F. A9 ER e EES, 8
TR R IR T BR. BlHN:1997 4F 1 A5 B A4 RIS 3 /M3,

M: I’ll have these shoes. Please tell me how much I owe you.

W: They are $ 40 a pair and three pairs make a total of $ 120. But today we offer a 10% discount.
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Q: How much does the man have to pay?
A) $120. B) $108. C©) $90. D) $40.
ZERE—EE R, EEWRAL EXNA KRBT XEF, 5 1 [a] L ﬁ'g}\fi Z L E%E
5 XUEE $ 40,3 XUEESE $ 120, HTH% 10% KT mE K, ﬁlﬂ:f"ﬁ $ 108, AT LU i, R,
EREXERORFERERR, B, Vﬂﬂﬁﬁﬁﬁﬂg% ""ﬁﬁﬁﬂj 5] 5, A s & EL A A B R
B, XM ERSHEN - EERA, ﬁﬂf‘"ﬁﬂ@?ﬁﬂ‘*ﬁg%—%ﬁﬁo
Qi
b A5 R S X 8 R 5 B e B ) e 4R B 0 A b R 4R R B R A V%’Sﬁf@?*%i*ﬁﬁﬁﬁWg%
S0 HE T X3 137 BT B HE PR BRI . X3 BT AR A B R RS (R R S BE LSS
4N :1997 4 6 A 4 X EF SR 7 B,
M: I’ ve just got back from the holiday you arranged for me, but I must tell you the hotel was really awful!
It was miles from the sea. The food was awful too. The bed room was dirty.
W :Sorry about that. But it’s not really our fault. The contract does say that the hotel accommodatxon is not
our responsibility.
Q: Where is this conversation probably taking place?
A) At the airport. B) In a travel agency.
C) In a hotel. D) At the recep_?f n desk.
BR T b R, e X, 55 R B P PO Al 8 09 R Xk 4B B R TR IR s X LR R
b, 588 A ) o B R AR R E ) A TR L TT . B ET LAE ), XRFEIRAT AL 8 — B E , TR R ENL
5 AR SR A B R RR AL, U B) o
102000 4F 12 A B X ETR R 2 B
2. W:I have a complaint to make, sir. I waited 10 minutes at the table before the waiter showed up, and when
I finally got served, I found it was not what I ordered.
M:I’m terribly sorry, Ma’am. It has been unusually busy tonight. As a compensation, your meal will be
free.
Q: Where does the conversation most probably take place?
A) At the information desk. B) In an office. C) In a restaurant. D) At a railway station.
[BR]C)o ZBRHb B , TR % A AR R X P9 28 5 5 A0 #E T 1 %o 3% 19 3 B X 18 R SR B 5 B o 1R
38 X% P B 2 41R) waiter, serve, order, meal, free R FH H, ﬁ%ﬁiﬂ:’ﬁlﬁm B s, ik C)o
©F 272083}
BRBE R A 5 AR A AR S, HIST R & SRk A B . X8 AT , 7T 5B 1R
# 4 mﬁ#ﬁﬁﬁtmﬁﬁxﬁﬁ{ﬁimﬂkﬂﬁﬂﬂf%tuﬁﬁ*_fﬁBAtﬂﬂB‘Jﬁ%:’?ﬂ*%o B4 : 1996
4E 1 AR5 /1 %84 Passage 1 FHISE 1 88,
11. What job did Miss Susan Brown have before she worked as a night nurse in a hospital?
A) She was an office worker. : C) She was a cleaner.
B) She was a physician. D) She was a social worker.
ZEXFPHE 11 BR-NYRBRUKNE, ZEERESERERY,ASIEHERKAIN, REX4
E T “office cleaner” XK 7S, REEHIM EFNERRE C),
@ EEXFRE
BRBEREZLBE IS FHNFRINETEEZAHRR, IHRREBEREXR , BTRR, REX
R EAMBANRR, RESERANXR,ANMEENXRES. #ln:
1998 48 1 A Xl 0958 5 /M,
W: Take a seat, Mr. Brown. Could you tell me which position you think most appeals to you?
M: Well,as for me, I prefer to take the post of sales manager if you think I’m qualified.



Q: What’s the man’s purpose in meeting the woman?
A) To find out her position in the company. C) To offer her a position in the company.
B) To apply for a job. D) To make an appointment with the sales manager.
BERTAEEXRE, EXNEP ;B LR B A B 2B 8 BRAL, 76 BA 64 E & B AR
BLBHRM, HEKEH, HEFHLERERE, fPEEREERE, HEREXE M miLHE KX
Ro B, 7T LAHEBR HoAL TR0, B E EBIERE B)o
10:2000 4F 12 A B 3HEI4 #9589 /NE
9. W:Sorry I didn’t come yesterday, because I had a temperature. Could you tell me your requirments for my
termpaper?
M: The theme of your paper can be about business management or touring resources in China, and the length
of your paper should be no less than 15 pages.
Q: What is the most probable relationship between the two speakers?
A) Manager and employee. C) Guide and tourist.
B) Salesman and customer. D) Professor and student.
[BRID), AERMIEEXRRE, L HRMIERSE T RETBRAER, 7B L HEHBXEMER,
BEMNEBSXEE KEMTER, BTN, AERFEXR,
ORI W
3 O AR X X T ) P A A, % S R SR A AR X 1 B P T SCHE BT DR A A B LR
B BE%, ¥RANREAERE:
What does the man/woman mean?
What do we learn from the conversation?
What conclusion can we draw from the conversation?
1999 4 1 A 2 HBXEHR 5 4 /N8,
M: If you are in a hurry, you can take the subway. If you want to go sightseeing, take a bus.
W: Actually,I don’t have to be at the conference before noon.
Q: What will the woman probably do?
A) Hurry to the conference. C) Take the subway.
B) Skip the conference. D) Take a bus.
ZARTHREASER, B EERWIRE 4 NEBENE N, ZEEREERBELLRENAZ,
HEW 1t T RE S ABA4 , FE B LA A ST AERT [ R XA K, INRAE R, U — T AR AL AKX
%)5,%Z £ F% :“I don’t have to be at the conference before noon. ” (R A MR FHIEHLBISW EART),
BHZE,“RIFAERE, “RAI AR AFREWN—TH AR EHEW, e %HET D)V IERH
ER. NX—EE, RITFTUE S, B % AR B ) (BN SRRN B B X T A A R R SR
U T “in a hurry” , “take the subway”, “go i ",“@fég Lg”,“before noon” % X 81715 , MR ME/EH IE
WEHIW, X—SE4—FEER ZXBREANAZTHEN L EBE, DEELENEAERE
H1. BEWHBHKRAHE 60% ~70% KIER T HEHEHBE, :
12000 4F 1 A X EER A5 9 /M
9. M:1 think I’m going to give up playing tennis. I lost again today.
© W:Just because you lost, is that the reason to quit? :
Q:What does the woman imply?
A) The man should take up a hobby. C) The man should stick to what he’s doing.
B) The man should stop playing tennis. D) The man should find the cause for his failure.
[ER] O ABMRFEEMPEABENER. BLU, “RERZHFITRRT,(BRH)RS XX
BT OZERET A, “NMENET XREERFHNEHG TR, L LA B LN KBRHT £,

4



B CONERER.
#0:2002 4E 1 A G XHERS A5 7 /& :
7.M: When we are supposed to _submit our project proposals, Jane?
W: They’ll do by the end of the week. We ve only 2 days left. We’ll just have to hurry.
Q: What does the woman mean?
[BR]A). ABR AW, ﬁiﬁ.,&fﬂﬁiJ—FWi,@ﬂé,ﬁJL,EEIH:W%H:EE%W‘H&@JT,&;&
Ao
(2)IF HEBME TS (EXHBS ) ER BT
M ERBARAT 6 FE AR, X 6 FEEAR{GE B F X 1E W 18843, T EL3& B F 58 30 Wy 1 38
4o BT U EBRAS, ECHARRBLE R ESY EB PO B EERREEERNREN RS NE
EREXFH— S ERELRIBNEARXR. NFBEEBHNANERE, EXWhHHINEENE
MEFEB K, I?EEHTﬁ%ﬁﬂ@"ﬁﬁﬂﬂﬁi’t,—&%EEW%%E*%EEE?W@,R"ﬁﬁ~§$iﬂ
BN F RBA LR ENEES, MR EREATFESA 29’{1 ﬁ'ﬂlﬂhtﬁﬁ%ﬁﬂhﬂ)ﬂti‘ﬂ

FEHE T 4 % 8, e R R AT R A RS, 6 B CBHHE R A E A BE F S, RS XE R
HH o

BN :1998 4 1 AR —H A B =REX,

On 15th,Feb, 1989 an instant survey was carried out among 18 overseas postgraduate students. 11 students
were male and 7 were female. The purpose of the survey was to discover the views of the students on a number of

matter of personal concern. The survey was conducted by means of a questionnaire given to the students to com-
plete. There were five questions. The first question concerned favorite color and the second favorite number. The
next 3 questions were all concerned with aspects of marriage. No. 3 looked at the ideal age to get married, No. 4
examined the qualities looked for in a partner and NO. 5 asked about the ideal number of children. The main find-

_ings were as follows: Blue was the most popular color. This was followed by Green and Purple. There was no real
significance in the choice of lucky number. About one third of the students said that they had none. Sixty-one
percent of the students selected the age group 26 to 30 years as ideal for marriage, followed by 21 to 25 year. In
looking at the most important qualities in an ideal partner, someone hoped the person to be Intelligent, others
chose Natural, still others indicated Attractive and Honest. The ideal number of children was 2, followed by 3. It
is not easy to reach any definite conclusion based upon such a small sample of students from such widely different
backgrounds. However, it is clear that majority favorite of 26 to 30 is the ideal age to get married with an intelli-
gent partner,and producing 2 children.

17.A) 18 American undergraduates. C) 18 overseas undergraduates.
B) 18 American postgraduates. D) 18 overseas postgraduates.
18.A) Family relations. C) Family planning.
B) Social problems. D) Personal matters.
19.A) Red B) Blue C) Green D) Purple

20.A) The five questions were not well designed. C) Only a small number of students were surveyed.
B) Not all the questionnaires were returned. D) Some of the answers to the questions were not valid.

[fB4r] ZE SRR E, BEHG, WA BNNIRNE, FEERA 5, BRSNS B PR
TREBKRHELRAY, RERBRD T X BB ALY, BEEEAHE, LR TIE, AREE R ER H
ERMER,

48 3CH IS 17 B : “Who were inyolved in this instant survey? St 2 — /N 8, MRE4BEESE —
4] :On 15th Feb, 1989 an instant survey was carried out among 18 overseas postgraduate students, 11 students
were male and 7 were female. ” 3 B % 211% A # # 5% 8 17 overseas postgraduates, I 4 X BB T T2 T o

[/NE] MM TAA S, B 4430, AARRELMPFLORAAMEXEIREATR+HES
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#,
4530 H 48 18 5 : “What do the 5 questions to be answered focus on?” J&— /™ HE Wi B A9 81, 3= 22 2 3 X

%A R R S B EE S R B b AT HEER R BT A BB o BB SR E A mI A AR P 5 A RIEE T 5
AT HSCHIRTEIR X S A RERBEAT T P40 MR , i EL7E 1 40 3R 2 BT B8 48 t : “The purpose of the
survey was to discover the views of the students on a number of matter of personal concern. ”, %A 7] Bl & &
A RER B, SARER BN RERXT ERWHAE E-NAERX T ERNEF %=
AN )R 6 F“ 05 4R 7 T A 1R) A, 40 < G5 S AR G B RE A RB IR B —NMF PR B IBE BN BT H, AX S
AEEE K RERE,EB T ARG, B, EFRAERNZ D).

[INE) AABTAA & e BEX T A hmF AR TR 24 AmF i ERRBORA R TH
b FE,FedR A 6) 4% Mot ARG KRBT

%5 CHEE 19 f81“What colour was chosen as the most popular in the survey?” 555 18 S [E , & T B4k 4
B, 3CHES 20 B “Why is it difficult to reach any definite conclusion from the survey?” f&— ™ # i U )
B, ZEBERZERBEREOAT (AEYABERD  HAEENEREAHRS)EB B ERMNER,
LR _E 4 S EE B4 “It is not easy to reach any definite conclusion based upon such a small sample of students
from such widely different backgrounds” (% Z¥ N HEL R EEH) - A E2HBBAE TER, H
KEAZERBHNXEES, REFERRZOEK., AWHNEEF, KESEERKRT XS HENGE
B, RiF5E E A

[/NGE) KRBT AK h Jedb 45 4| AN EBE A géﬁkhgﬁﬁﬁi"ﬁﬁﬁi%&%z—-o

= WA RN R R T
s BERFAP

U A EFINRREREEESERAE N —FEET B, K¥EEIFEARE KX B E 2R
REZEGHZ—, 3520 ME,20 4, S BN ETSEH 1/5,

— MR , 2B A FEWT 7 IR FR A B B A 1) R - (1) KA B 4EBR R BB ; (2) T W 3L 26 56 8847 ; (3)
HTFREARME, ARESHWHE; ()X NFEN R, RREME EM AR, BHil, EHANELE %
JOE R IT Sy Bk A0 Ty B A O T AR VI Gk o

1. WAHEMIIZ

BT WEABRES, W B THEZAEE, X E T U 5 650 3. 5 % 008 3 #E47 K B 80 1 52
BRIk SEH . WT S 2RISR AT A AT LS 247 -

(1N HEEFHEMA %o

RO RE T, R BIYGE , B R E XA DA 2 A BRWE BT N, RS RIS
Lo

8 RO R — T IR A G I E R ATYI , BA & h BT A, R ETWIR, E
FEXMBEOAE PE T, WHEBHHR, ATMAZ, ANFFERIT#E RS HE, g —1NaF, U
BRINESNF EE-B%, X0, KINE 52BN T X FhiFE, 8 T RERNRICIZSERY
AT,

BMNEHELRFI ARSI, E_MTEEAR. AW NEENISGS, RASHAE ACKRE,HE
HIEH BT AR, G — Bt RIS Z G , B E A BRI EE SRR, EERBN
FWEMER, IR EEESEEEARENEANER KRR

(2)BEEXERN%

W A EARERMNEZ R EEEH A TFEIE. %%%ﬁ%ﬁ%v&%%*%tﬂﬂg¥ﬁ HEFERE
HEEEMEETHRTHES.

TEIE W BE R P& I — S F A, MF R AR TR0 L B, R X
EAKIEFAN,HHFER HWR P orEdE,
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(3)iB1Z il 2k

W SRR AR g — AN EERY , EHFELBRARIESE, VT HCZIGT 5 3 £ #47:

DHEZ ., X—MBHETELSRYIGIXBIFNEES, 0 EE FESHE RmE RS04 E
E B i E R ENERS.

. OQWE, WERINKIBIZHERITE. WE VISR N BTG, B4 0 B & of ¥ , N7 2% 45 H 1 3
FNCER B E X . W5 S, BT SE LA G RN ARARIIT, 5l EZAFIE,

QHER, WRE—MTFTREEE , A REFE MM EHIE, RIMEXRIT, H A C R FESCH
BB MR, T 4 5830, B0 4 M B , £ DAk W 52 I 7 0 KA R , SR S5 2
LHERKERE.

2. iR #T5

(1) 837 E A & , RIEN WS A EFR

ICESHELEY S ABREGANMEF, AL EER MEER, 5820 FHEA — B Direc-
tions, A %% BT R Mk K BSR , Section A B4 T — DX G LB, R A fEHR AT 24 Direc-
tions,, AR 2 R AT LA 33 B B i R 53 ) 65 46 T A 6 43 00, O, o U % 7% 9 = R A0 T R 4Rt A R R, A T Y
3 A1 T, D 90 3 % O k4 R OB A v R A TR KA B

(2)FHRiEARMIFIT A KR

BRI SR ,RARE LB T A8 U7 I 22 18 5] /Y [a) 1, 3X — s A OGE B F X3 7% #8 43, 1 5 (LK)
& R F 58 3T 1 ER 4 o

M JE 2 AR B R A MR &, XS ER 4 B4R [a] K &R &2 LA wh-FF 3k # 5%k BE [7] ] (what, where, when,
why, who, which, whose, how %) 1999 4F 1 A W7 1% X #8410 EEH,7 BB LA what 27,2 iE
L how # 1A, 1 AL why #[7], BLah, & R4 #9 K 2 30 AR 2 B 28 48 — A A IE B4R tH 10, B
URHES-MARMIERNTERXEE, 7199 F 1 ABHKHE 10 M8, ERREE - PAWN
REHNBZHTREANEEFED,D,0,0,0,8,0LEM,

ARV, BEREXWAEZHEMH, BREREF RN, HEEREFLUTILA:
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(D What’s the main idea of the passage?

@ With what topic/theme/subject is the passage mainly concerned?

@ What is the passage mainly about?

@ The passage deals mainly with

® Which of the following statements best sums up the whole passage?

® The best summary of the passage is

(@ What is the best/most appropriate title for the passage?

The title that best expresses the idea of the passageis _

© The author’s purpose in writing this passage is E

FER—RXER—NBRENZL 85 L B 4] (topic sentence) MR HBEXH ., WHIEEE
BRARMEXRBHIXRE, TN BRAEERTEEE EAMANES, —TBRE-RELZE 1T
AT, HoAth/5) T30 E AT BR BREGSIE, TBE EEA XASCE B AN,

HTFARKXEERAR, AAWEEFESER, FEANMERARME, BEEXE S, EHH—
AL T B BRIE I SL AR A, F LA £, RS R IHE . B E D, A% M TRk R
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Ko BREZERFIIRL, FEHEZNERELEN, TEOGHEZIHRAEFLRTE. NEBRXE,
BENERAZHAECERY AN RE G, H R however, but Z KM 4T E 175 | ; 1L, 5
— B FF Sk Bk R A s B 1 ), ISR A B A AR X EN E B KE.

MEE,XEXEENERESTIRASREEXETEAMNHAEL, MEEXRBNEHRE,

B3 :

Americans are people obsessed with child-rearing. In their books, magazines, talk shows, parent training
courses, White House conferences, and chats over the back fence, they endlessly debate the best ways to raise chil-
dren. Moreover, Americans do more than debate their theories; they translate them into action. They erect play-
grounds for ‘the youngsters’ pleasure, equip large schools for their education,and train skilled specialists for their
welfare. Whole industries in America are devoted to making children happy, healthy and wise.

But this interest in childhood is relatively new. In fact,until very recently people considered childhood just a
grief, unimportant prelude to adulthood and the real business of living. By and large, they either ignored chil-
dren,beat them,or fondled (2 % ) them carelessly, much as we would amuse ourselves with some little dogs.
When they gave serious thought to children at all, people either conceived of them as miniature adults or as pecu-
liar , unformed animals.

Through the ages the experiences of childhood have been as varied as its duration. Actions that would have
provoked a beating in one era elicit extra loving care in another. Babies who have been nurtured exclusively by
their mothers in one generation are left with day-care workers in another. In some places children have been
trained to get through dangerous mountain passes, and carry heavy objects on their heads. In other places they
have been taught complicated piano concerto( 2 i ) o

But diverse as it has been, childhood has one common experience at its core and that is the social aspect of
nurture. All children need adults to bring them up. Because human young take so long to become independent,
we think that civilization may have grown up around the need to feed and protect them.

1. The main purpose of this passageisto .
A) show that Americans are overworried about child-nurturing
B) argue that children, though they are not adults,should be respected
C) propose that our civilization should center on children problems
D) call our attention to the social aspect of child-rearing
2. What is paragraph three mainly about?
A) Children’s experiences vary from place to place and from one period of time to another.
B) Some children behaved badly but they received extra love.
C) Children are treated differently in different areas.
D) Children have quite dissimilar experiences in their childhood.

BURE, EXURAN TR AR REEAERE R OILERKNIR, BER S EHTXH
BHSEEL, BERAGRENESETILELFRNENSRE. B, NS RER(RE—B)PHR
XENEE - LREL LB EMA“. . . childhood has one common experience at its core and that is the social
aspect of nurture”, B8 , D) TS 1 BHERER.

F2ERAE=ZBHAE. FZREURFFRBRIFLRN, BB RARG AR XL ERFE
AELREHHER, Bit, X—BRNFEARREEHAE. ®T A)RX EEARHER, % A). C)
ARKEN—FHE, RZMB. D)(ARZEFHEFELHAR)FRIXENWA

FUEXEPAHAARYEE, MEEERETRRZP, FENRESEASHNE IR BEBHER
BN, B LT NAL FEZMETR, EHERE, N ELEHE— T HMESH T EAN S BB E
Fd

Bl4n 1997 48 6 Ay E B 30 &
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30. What is the main idea of the passage?
A) American firms are different from Japanese and German firms in human-resource management.
B) Extensive training is indispensable to effective human-resource management.
C) The head of human-resource management must be in the central position in a firm’s hierarchy.
D) The human-resource management strategies of American firms affect their competitive capacity.
XEFHEEE, B TFEEAAMRAERANREOEE, B, EREZESPREAEZ(MX—K
PR F TARBEARKFE) BL2EXEAFRSERRAMEE, XEEEREEXZEAAE, ANKER
’Eﬂ*%iﬂ.ﬁmﬁgfﬁﬂﬂﬁﬁi§fﬂﬁ‘%ﬂﬂﬁgkﬁ§§,.’&HTIAE‘JEZIS&?R’KJ'I%,MW&%T
BARRENHE, BAYVLERERAAAMNRES . ARATR, AXHFLBER . ZELAAANERE
BRRBEREES S, UREXT DEFBNANR. A) COBBERSLE, & LM A L2, B) S
ARIXFHEAR
#n:2000 4 6 A &% 30 /ME
30. In discussing the maketing concept, the author focuseson
A) its social impact C) its possible consequence
B) its theoretical basis D) its main characteristic
XEF—-BANBWR“THEH WESERZRHHEE £ BXROK R RE R HE
WHE; B _BIIABHNBSREFE ;B =B — X X — MR T 8, B2 AR, B
AR, XEFTERFESEHNSERT, MEHASEWE, TREMNER, UREREMERX, M D)V ERE
o
I.EE0RRSEE
' EEEEFAERBCHE-FYRMAWSEMGR, A EL LSRR, ZAEFGIEEEN
AE ;AR TESEENARCIEREAAMER), EHEENES. ¥ANRAIRE:
(D What is the author’s opinion?

@ What is the author’s attitude toward ____ ?

@ What does the author think of __ ?

@ How does the author feel about _ ?

® Which of the following can best describe the tone/style of the passage?
B3 :

Farewell, rutherfordium. So long, kurchatovium. All hail unmlquadrum' The bland and faceless scientists
at the International Union of Pure and Applied Chemistry (IUPAC) have decided that the names for all newly
created elements will be equally bland. No more will the creators of a new element be able to name it after a fa-
mous scientist(lawrencium) ,city (berkelium), or state(californium). Instead, the names of new elements will
be systematically based on their atomic numbers, beginning with element 104, which will henceforth be known
as unnilquadium(un=1, nil=o0, quad=4).

Some investigators are thankful that the committee has not been able to extend its influence into other areas
of physics and biology. If it had, the quark might be simply particle. By the same token, Legionaires’ diseases
might simply be infectious disease 203. Science might become orderly, but it would be a lot less interesting.

1. What is the author’s attitude toward this new system for naming elements?
A) Indifferent B) Apparently approving C) Hard to determine D) Slightly citical
2. How do investigators feel about the new system for naming elements?

A) Insulted B) Disapproving C) shocked D) Grateful
3. Which of the following best describes the tone of the passage?

A) Furious and indignant C) Humorously critical

B) Neutral and formal D) Cautiously optimistic
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WBJE —AIEE H, YEZ I\ R 896y & 7787 F (science might become orderly) , {H B3 4R K (a lot less
interesting) , B W HEWT , EE X LB R RITRZR ,HERAHFAE. 5 | BHEBRERNE D). HE=ZBR
HAANE, BRI AR B A Y% R, — 2 A 3 X e R B A K 3 b (thank-
fu) BREEZNNFRLGERAERN . 52 B B)NERETR, EE L3 —BZTTRELK
6 “Farewell”, “So long” , B S RN, BhRE — KB EENARRESE, S, % 3EE

WERD)BERT

Il . e
R NBRZ —, BA A AR o TR 2 2 0% A X B b e R AT T IR RE T o R

WIRRE T ESAREE AT ERNT, BN ERAARBLAS, FANERBICESE EERBEFE
BREM L AAEXR BRIESKR WUEEOEE, SEER, ZENEEUTILA:
(1) ENEREE LIEE2X, BB LRER;
(2) Fi FEAH R4 B FF 5 R, B 2 R
(3) BHEHEE%;
(4) AFERF B, A AT 3 0T
(5) KAIFLFWA ;
(6) MRETARE HEARM,
R —BR
@ It can be inferred/concluded from the passage/paragraph that .
@ We can infer/conclude/draw/see from the passage that _
@ It is implied in the passage that .
@ Implied but not stated: . .
(® Where would the passage most probably found?
BN :1998 4F 1 A HHiXA% 33 &
33. According to the passage, alcohol has something to do with bad breath mainly because .
A) it keeps offending bacteria from reproducing C) it kills some helpful bacteria
B) its smell adds to bad breath D) it affects the normal flow of saliva
)’C*i#ilj&ﬂ s S B R M VR 7 A B 0% i R Y (bad breath can happen whenever the normal flow of
saliva slows) , ¥ /& 3 A B Z — (Alcohol , hunger, . . . —anything that dries the mouth produces bad breath),
B AT HER, R R E S MR A RES | RO EREN, DEER, ZE— DA AZEHEMET
. B
X 4n:1990 4 1 A B 31 B8
31. It is implied that fifty years ago
A) eighty percent of Americans working people were employed in factories
B) twenty percent of Americans intellectuals were employees
C) the percentage of intellectuals in the total work force was almost the same as that of individual workers
D) the percentage of intellectuals working as employees was not so large as that of industrial workers.
XEFURLA 100 F/TRA 1S HWAZRETAS FRiRABRKREEL RRBHEFH N, SR
HE 15 WARZET A, HA KRR R 323 85 0057 M6 %0 E Bk 8K, B T RAHE BT, 50 4
BT R B FARS F R AL E AT T A, B D)2 EFMET ., 24850542 E i R EEAN S
AFHER, REERRBREIE L.
4n:2000 4 12 A4l E 27 /)Ml
27. It is implied in the passage that holding a university degree .
A) may result in one’s inability to solve complex real-life problems
B) does not indicate one’s ability to write properly worded documents
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